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Short-answer questions/problems

Note:  Except possibly for questions in which you are required to provide a list, your answers to the following short-answer questions should be no more than a sentence or two.  If you write more, you will likely run out of time.

1.  Which capital budgeting rule or rules discussed in the review sheet can lead to inferior decisions compared to net present value because of failure to adequately incorporate risk differences between projects?

Payback, average accounting return, internal rate of return

For questions 2 and 3 assume that KOTOR Inc. is considering building a new distribution facility in Waco.  If built, the facility would go into operation a year from today and has an expected life of 25 years.  Assume that KOTOR’s marginal tax rate is 35%.  For both questions, write a “+” to indicate an increase in cash flow and a “-“ to indicate a decrease in cash flow.  Answer each question independently.  

2.  Assume the new distribution facility will cost $2,000,000 to build and that the facility will fall into the 7-year MACRS (1986) depreciation class.  How does this initial cost affect the firm’s incremental, after-tax cash flows five years from today?

+62,440 = +(2,000,000)(0.0892)(0.35)

3.  KOTOR has been paying $150,000 of overtime per year at its distribution facility in Oklahoma.  If the new facility is built in Waco, this overtime pay will no longer occur.  How will this impact KOTOR’s incremental, after-tax cash flow four years from today?
+97,500 = +150,000(1-.35)

4.  Immediately after you purchase a call, the Federal Reserve announces in increase in interest rates (actually the target Fed Funds rate).  Other things equal, how does this increase in interest rates affect the value of your call?
Increase
5.  What must you do if a call you sold on Dell is exercised?  (Note:  Assume you don’t currently own Dell stock and don’t plan to own any Dell stock after you are done.  Be sure to identify as clearly as possible the other party in any transactions).

Buy stock in market then sell to person exercising the option.  

6.  Assume you have previously sold a put on Dell with a $35 strike price.  Sketch a graph of your payoff at the expiration of the put as a function of Dell’s stock price.
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7.  What is the fundamental reason that stockholders and managers disagree about the company-specific risk of the firm?
Stockholders are well diversified while managers are not.

8.  In class we discussed several potential economic reasons a firm might be able to find positive NPV projects.  List, but do not discuss, one of those reasons.  

One of:  first to develop new product or variation on existing product, differentiation through marketing, lower cost structure, barriers to entry.

9.  Sketch and label a decision tree regarding whether or not to build a factory that can be expanded if it is more successful than expected and abandoned if it is less successful than expected.  


[image: image2]
10.  What advantage does Monte Carlo simulation offer compared to sensitivity analysis?
Allows for interaction between input variables.
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Problems/Essays

1.  MicroNoEU Inc. is considering investing in a new manufacturing facility in Izmir, Turkey.  Based on the following information, what is the value of being able to abandon the new manufacturing facility if sales do not materialize?

Values and costs:

Market value of MicroNoEU’s existing assets:  $13 million

Market Value of MicroNoEU’s existing bonds:  $4 million

Market Value of MicroNoEU’s existing stock:  $9 million

Present value of expected net cash flows from the new facility:  $3 million

Present value today of cash flows from possible expansion if sales exceed expectations:  $2 million

Maturity (par) value of MicroNoEU’s existing debt:  $6.8 million

Cost to build new manufacturing facility:  $2.7 million

Cost to expand:  $1.9 million

Proceeds from sale of manufacturing facility if sales do not materialize:  $1.5 million

Time frame:

Time during which facilities can be sold if sales do not materialize:  5 years

Time during which facility can be expanded if sales exceed expectations:  4 years

Time required to construct new manufacturing facility:  1 year

Expected life of existing assets:  9 years

Expected life of new manufacturing facility:  15 years

Time to maturity of MicroNoEU’s existing debt and on the debt it will issue to fund the facility:  12 years

Standard deviation of returns on:

Existing assets:  32%

New manufacturing facility:  44%

Possible expansion:  52%

MicroNoEU’s common stock:  49%

MicroNoEU’s outstanding bonds:  21%

Returns on Treasury Securities (all APRs assuming continuous compounding):  1 year=1.07%; 4 years=2.44%; 5 years=2.74%; 9 years=3.64%; 12 years=4.09%; 15 years = 4.34%
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2.  Assume a method for costlessly resolving all conflicts of interest within a firm is discovered.  What impact (or impacts) will this discovery have on stockholder’s desire for the firm to issue debt?  Justify your answer.  

Impact due to resolution of stockholder-manager conflict:  less incentive to issue debt

=> debt helps resolve stockholder-manager conflict by:

1)  taking excess cash out of management’s hands so won’t waste it

2)  putting pressure on management by creating risk of bankruptcy

3)  allowing management to own a larger percentage of firm’s stock (if debt used to repurchase stock)

Impact due to resolution of stockholder-bondholder conflict:  less incentive to issue debt.

=> if conflict not resolved, stockholders have an incentive to issue debt with same priority of claim as existing debt 

=> stockholders gain at the expense of the firm’s original bondholders

=> new debt dilutes the claim of existing bondholders
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